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1 |40 BAah _ |BEX T HEH 3-203-1-014 26,119 - 8 0 0.17
2 |{F40 BAT HEA +aEA 3-203-1-015. 35,171 - 21 0 0.01
3 |{F#R BAT A 1 ER 3-203-1-019-1 44,643 8,054 15 q 046
4 [{RER AT A THE- 3~203—1-019-2 32528 | 105 13 0- 005 -

51 HEARm (BA TER 3-903-1-020 |- 22354 115 13 0 0.01
6 (AR BAT A MEXS5 3-203-1-021 12,896 | 157 8 0 0.07
7 |{FER BAT PN TEE 3-203-1-022 24,691 252 9 0 0.01
8 1R ¥EARh FEA +Rik 3-203-1-023 12,761 ~.189 8 0 0.08
o 4l BAm AR THEE 3-203-2-019-1 3,630 126 1 0. 0.01
FEL BAN A +HRK . [3-203-2-019-2 3943 - 362 1 0 0.01
FEB BAT A . |THEE 1-203-1-901 11,028 1,261 7 0 0.12
1 1 0 0.11

FER v%_zs?ﬁ A 5k 1-203-2-901 - - 27,871 533
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1 | {FHR BRI FEF S ERH D RRE 1 -2 13,255 4,915 13 5 42 42
2 |[{REL | AEA A SEHmOEE 1 -3 10,617 3,152 5 3 32 39
3340 BAT_|#AR AIFRHh @ BA A I -3001 2,695 850 3 2 14 40
4 FE  BBAm - |HA (R EROER T -1 1,181 13 2 1 B 63
5|(F# |@EAT A 2 lEsish o prlE 0 -2 . 3,876 1,101 I .0 20 47
6_| AR B AT FEw SlEthOaRiE T-3 5,946 - 1,605 2 0 19 48
7 |E AR HA o) tﬁﬁ’:ﬂriﬂ@ﬁ“ﬁigrﬂ -4 4247 . 742 3 1 15 54 |
g |{F4D AR [ GiEsi D EEl O -5 11,730} 5,725 3 0 37 - 42}
9 |{RER . BAT HAX AlERIM O R T -7 12,562 4,946 8 0 46 39.
R0 A HA SO iR 01-8 1972 1,134 1 0 21 39.
FER BAm - |4 2@k 1-9 559" 165 | 1 1 11 37
{FER BAT A . [AlEiho s T-11 2,259 641. 21 0 15 49
FEL BT A EMgslho BRiE I -28 ' 2076 748 1 0 25 45
Fakl BAT A Elasi O HAE 129 - 30905|  1,183] ° 2 2 31| . . 42
{RE0 A AR TAEH OIS 1364 - 6,753 1,040 3 1, 27 52
F40 BA™ R S {ES ) BRiE| I -365 BE 2,392 480 -1 0l 8 50
Pk L - 2 i HA = {ER o BRIE T -366 596 e 1 0 6 59
L X I L= %S S ERIMhDERIRIT-2 2,692 | 397 3 0 8 47
# AT |#EA Tatasit o miE 010127 71386 | 7,704 11 1 41 40 |
FHEL BT AR 2 B4l ih D RAlE| 0 -10128 15,331 10,030 | 1 i 79 40
FEB BAM [ED ZE4i @ iR O -10129 ~ 680 105 i 1 7 49
FH UEAT  |HEA SEfha 5 1-10130 1920] 444 2 1 9 53
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